Power Unit
Turn-Q Plus

Right End Panel

Left End Panel

N ceR

I ©.6.©




Power Unit

Turn-Q Plus

ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly

1 9610045-NLA | NLA - Filter Door Assembly (Includes: Door, Spring, 1 1

Muffler, Gasket and Screws)
2 9610035-NLA | NLA - Gasket, Filter 1 1
3 9172069-NLA | NLA - Filter, Air 10 1
4 1101057-NLA | NLA - Bumper, Rubber, Grey 1 4
5 1101058-NLA | NLA - Screw (1/4-20 x 5/8") 1 4
6 686-NLA NLA - Bumper, Composite, Black 1 2
7 393-NLA NLA - Screw (#8-32 x 1/2") 1 2
8 654-NLA NLA - Washer, Lock (#10) 1 2
9 805-NLA NLA - Screw (1/4-20 x 3/4") 1 4
10 A 9382029-NLA | NLA - Hook, Interchangeable 1 2
11 9510100-NLA | NLA - Coupler, Quick Release, Green 1 1
12 9510099-NLA | NLA - Coupler, Quick Release, Blue 1 1
13 9510098-NLA | NLA - Coupler, Quick Release, Red 1 1
14 9510097-NLA | NLA - Coupler, Quick Release, Yellow 1 2
B BB9612014 NLA - Unit, Power, Turn-Q Plus 1 1

NOTE: A - See page titled "Miscellaneous Accessories" page for Hook Replacement Kit.
B - Not Shown.




